EAGRAROBREERT — 2 N— IBISH —F

2021568218 (B) SEIAMEIR

M o%R3E —

3058 L3361 AKX

EEE R

[AE<%] 1 7% :1,800,000 § ~ 237&:720,000 F 3 7 :450,000 4

4 7% :270,000 B 5 3 :180,000 M

& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
s 5 B3 | BAE 1:36.6 6-7-5-4 |39.1| — 2 450 | FEMSETS (AR4E)
1]8|10| E> hLA—0O #63.0 ) Gy |EEEE
L:o)VIq44—-2 B:trbhO-L X R E4S
8.0 5 o 250N :36. == . — 1EERA (hiE)
5 a| v b—x% it 3 o 1(316)8 2-2-2-2 | 39.6 9 (4_3;) e
.40 B:FY¥—-—bFr—L BB S
iS5 4 3 | RHES 1:37.1 4-4-3-3 | 39.8| — 5 513 | 3RER (115)
37l | ¥2/ 97514 5.0 (4172 Gy |HATEA
L:T7oFyyy B:ZL/7OI%UX [Il]=:Eye]
I8 : -1-1- = JIBIE— (#A18)
N - BESEI T 3o o L R ° (fg) WAL
RN—HISE BiS—T4—1y b L3t
NS TSR # 3 | AHESE 1:37.2 7-6-7-7 |39.6| — 4 469 | FIEE (fatE)
5155 XLTFTHX 56.0 (3/4) +1) E#"S ;
LT RIS Y< v 72 By AT1—> #1455
NPT 4 3 | RERZ 1:37.7 5-5-5-6 | 40.2 | — 6 425 | |BAS (fekE)
6 o | BEZ b 56.0 2 1/2) (45) | EAMRIE
LR LT M A—Fr—K—F B:HsI5%>1Y ES
5 4 3 | EEKREH 1:38.0 3-3-4-5 |40.7| — 1 451 | WUREIE (AfE)
7011 YTz HR 56.0 (1 1/2) 1) | PEER
Z:2kArTUE=r By A X T =Y PR
S N AlEER : -8-8- — KBHHEE ()
8 6| 751N R R i 3 cF (12.318/.25) 8-8-8-8 | 40.9 7 zzg; T i)
LA hT7LYy X B:I95EyTLT« BRYS
By h— # 3 | ISEKRS 1:39.4 9-9-9-9 [41.0| — 10 | 462 | BHBSE (08
9/8|9 % 56.0 (4) (o) | TIRFIT
RG> TVRZ B:hAYT vy TRy b Hik JIE—
4 3 | AEEX 1:40.7 10-10-10-10{ 41.7 | — 8 510 | ZEEGL (AntE)
1007 7 J—X¥xtF 56.0 (6) (+6) A& i
RTFITFIVATLR B:v > 7any — RIS
® 1—F—@EBIERL
13=2r= 3,4,1,8,2,10,5,6,9,7
23— — 3,4,1,8,2,5,10,6,9,7
== 3,4,8,1,(2,10),5,6,9,7
43—+ — 3,4,8,10,1,2,5,6,9,7
[ N5
B OB 10 490M 714K 4-10 1,540H e E 4-8 4,650/ RPEL:] 4-8-10 12,270M
B B 10 160 8-10 62019 e B 8-4 6,800M B 10-4-8 60,150/
4 680 4-8 2,280 B = 4-10 5,080
8 260M B H 10-4 8,910

ARICOVWTRDTEEERROODE. TR LIV,




